

Government of India Ministry of Jal Shakti Dept. of Water Resources, RD&GR Central Water Commission Narmada Division, Bhopal

No. NDB/HQ/C-1/2024-25/ /632-34

Dated: 06/12/2024

# कोटेशन आमंत्रण सूचना

भारत के राष्ट्रपति की ओर से अधोहस्ताक्षर्ता दवारा दिनांक 13.12.2024 को 14:00 बजे तक निम्नलिखित विवरण के अनुसार पंजीकृत ठेकेदारों से कोटेशन (मुहरबंद) आमंत्रित किये जाते है, जो उसी दिन 15:00 बजे उपस्थित कोटेशन प्रदाय कर्ताओं के समक्ष खोले जायेंगे :

क्रं.	कार्य का नाम	मात्रा	अनुमानित लागत (रु. में)	कार्य पूर्ण करने की अवधि
1.	Renovation/upgradation work of Middle Narmada Sub-Division-II, Bhopal premises & Flood cell of Narmada Division, CWC, Bhopal	As per Annexure - A	Rs. 2,38,662 /-	30 Days

## निबंधन एवं प्रतिबंध / Terms & Conditions:-

1.	हस्ताक्षरित व् मुहरबंद कोटेशन इस कार्यालय को दिनांक 13.12.2024 सायं 14:00 बजे या उससे पूर्व प्राप्त हो जानी चाहिए जो
	उसी दिन सायं 15:00 बजे अधोहस्ताक्षरी अथवा प्राधिकृत प्रतिनिधि दवारा सप्लायर्स या उनके प्रतिनिधि (जो उपस्थित रहना चाहे)
	की उपस्थिति में खोली जाएगी
	The quotation along with brochure confirming to specification duly signed should reach this office
	on or before 13.12.2024 upto 14:00 hrs. and will be opened same day at 15:00 hours in the
	presence of the supplier or their authorized representatives whom so ever will be present (at
	their own cost) at the time of opening.
2.	कोटेशन के लिफाफे में अनुलग्न - अ के अनुसार वित्तीय प्रपत्र होना आवश्यक है तथा लिफाफे पर कार्य
	"Renovation/upgradation work of Middle Narmada Sub-Division-II, Bhopal premises & Flood cell of Narmada
	Division, CWC, Bhopal" कोटेशन का नाम लिखा होना चाहिए
	The sealed should Quotation consists of financial bid with words "Renovation/upgradation work
	of Middle Narmada Sub-Division-II, Bhopal premises & Flood cell of Narmada Division, CWC,
	Bhopal".
3.	कोटेशन के रेट 60 दिनो तक वैध होना चाहिए
	Rates should have a validity period upto 60 days.
4.	कार्य आदेश जारी होने के 30 दिन में कार्य पूर्ण होना चाहिए
	The work should be completed with in 30 days from the date of issue of work order.





Government of India Ministry of Jal Shakti Dept. of Water Resources, RD&GR Central Water Commission Narmada Division, Bhopal

5.	कार्य दोष रहित व् विनिर्देशों के अनुरूप होना चाहिए अन्यथा कार्य अस्वीकार कर दिया जायेगा तथा ठेकेदार स्वयं के खर्चे से कार्य
	करने हेतु बाध्य होगा
	The work should be of standard quality and free from defect and if found unsuitable, the same
	should completed with standard quality at the cost and risk of contractor. Discretion of EE,
	Narmada Division will be final.
6.	यह कार्यालय असफल कोटेशन की सुचना देने हेतु कोई कार्यवाही नहीं करेगा
	Intimation of unsuccessful tender/ quotation will not be given to concerned supplier and the
	tenderer / quotationer shall have no claim of any nature on this office.
7.	कार्य समाप्ति के पश्चात देयक भेजना सुनिश्चित करे जिसमे की बैंक खाता विवरण सम्मिलित हो   संतोषजनक कार्य के पश्चात भुगतान ठेकेदार को RTGS/PFMS के माध्यम से किया जायेगा
	Pre- receipt bill in Triplicate will have to be submitted simultaneously after completion of work.
	Payment will be released only after the completion of the work through e-payment and Mandate
	form must be enclosed for e-payment.
8.	ठेकेदार कार्य निष्पादन हेत् केंद्रीय लोक निर्माण विभाग के कार्यों के लिए संविदा की सामान्य शर्ते तथा अन्य सम्बंधित कोड व्
0.	विनिर्देश के लिए बाध्य होगा
	Any other rules of CPWD General conditions of contract for works, codes and its amendment as
	applicable will be binding on the successful contractor.
9.	सभी कटिंग व् ओवेरराइटिंग पर हस्ताक्षर तथा मोहर लगी होना चाहिए
	All cuttings / omissions should be sealed and signed.
10.	सरकार दवारा निर्धारित टैक्स की कटौती यदि लागू होती है तो नियमानुसार की जायेगी
	Taxes as applicable will be deducted at the source from the bill at the time of payment.
11.	कोटेशन के मामले में किसी भी प्रकार का प्रत्यक्ष या अप्रत्यक्ष प्रेरण पूर्णतया निषिद्ध है
	Canvassing whether directly or indirectly is strictly prohibited.
12.	कोटेशन प्रपत्र इस कार्यालय से दिनांक 07.12.2024 से दिनांक 13.12.2024 (14:00) तक किसी भी कार्य दिवस में प्राप्त किये
	जा सकते है
	The quotation documents can be received from this office on all working days during office
	hours w.e.f. 07.12.2024 to 13.12.2024 (14:00).
13.	कोटेशन प्रदाता , कोटेशन प्रपत्र वेब साईट <u>http://www.cwc.nic.in</u> से डाउनलोड भी कर सकते है
	The quotationer can also download the quotation documents from website http://www.cwc.nic.in.
<b>1</b> 4.	कार्य के सम्बन्ध में उत्पन्न किसी भी तरह के विवाद की स्थिति में, मामले को अधीक्षण अभियंता (समं.), नर्मदा बेसिन संगठन,
	केंद्रीय जल आयोग, भोपाल को भेजा जाएगा और उनका निर्णय अंतिम होगा एवं दोनों पक्ष मनाने को बाध्य होंगे
	Any dispute arising in this work will be referred to Superintending Engineer (Co.), NBO, Central
	Water Commission Bhopal and his decision will be final and binding on both the parties.
15	Bidder Should submit a undertaking regarding Non-Blacklisting and Debarment for the past three





Government of India Ministry of Jal Shakti Dept. of Water Resources, RD&GR Central Water Commission Narmada Division, Bhopal

	years as per Annexure-B .
16	Bidder should submit necessary registration documents viz Pan Card, GST registration, Bank
	Account details.
17	Bidder should have a registered branch office in District Bhopal (M.P.).
18	Successful bidder should supply the required work in standard quality if found work of inferior
	quality during visit. Disciplinary action will be imposed in form of penalty/ reconstruction as per
	the direction of Executive Engineer.
19	Purchaser has the right to accept or reject any or all the bids, or cancel the bidding process at
	any stage, either in part or full, without assigning any reason.

करन सिंह सैनी अधिशासी अभियंता नर्मदा मण्डल, भोपाल

## प्रतिलिपि:

- 1. The Superintending Engineer (Coord.), Narmada Basin Organisation, CWC, Bhopal (M. P.).
- 2. लेखा शाखा, नर्मदा मंडल, केन्द्रीय जल आयोग, भोपाल को सूचनार्थ |
- 3. http://www.cwc.nic.in पर प्रकाशन हेत् |





Government of India Ministry of Jal Shakti Dept. of Water Resources, RD&GR Central Water Commission Narmada Division, Bhopal

#### Annexure-A

## **PRICE BID**

Name of work:	Renovation/upgradation work of Mi Bhopal premises & Flood cell of Na				•
SNo.	Description of work	Quantity	Unit	Rate (Rs.)	Amount (Rs.) incl GST
Α.	Sub-Division, Bhopal				
1	Providing & fixing Aluminum Partitions/ framing/covering platform plinth closet with Aluminium & Glass work including door work, Glass work, hinges, door closer, 1-drop,handle, locking etc. as per direction of Engineer-in- charge.(min Panel thickness 52.4 mm)	11.55	Sqrm	3225.806	37258.06





Government of India Ministry of Jal Shakti Dept. of Water Resources, RD&GR Central Water Commission Narmada Division, Bhopal

2	Providing and fixing false ceiling at all heights with integral densified calcium silicate reinforced with fibre and natural filler false ceiling tiles of Size 595x595 mm of approved texture, design and patterns having NRC (Noise Reduction coefficient) of 0.50 (minimum) as per IS 8225:1987, Light reflectance of 85% (minimum). Non combustible as per BS:476 (part-4), fire performance as per BS:476 (part 6 &7), humidity resistance of 100%, thermal conductivity < 0.043 W/m K as per ASTM 518:1991, in true horizontal level suspended on interlocking metal powder coated T-Grid of hot dipped galvanised iron section of 0.40 mm thick on Silhouette profile,rotary stiched double webbed white with 6mm reveal profile (white/black), comprising of main-T runners of size 15x42 mm of length 3000 mm, cross - T of size 15x42 mm of length 1200 mm and secondary intermediate cross-T of size 15x42 mm of length 600mm to form grid module of size 600 x 600 mm, suspended from ceiling using galvanised mild steel items (galvanizing @ 80 grams per sqm) i.e. 50 mm long, 8 mm outer diameter M-6 dash fasteners, 6 mm dia fully threaded hanger rod upto 1000 mm length and L-shape level adjuster of size 85x25x2 mm. Galvanised iron perimeter wall angle of size 22x19x0.40 mm of length 3000 mm to be fixed on periphery wall / partition with the help of plastic rawl plugs at 450 mm center to center and 40mm long dry wall S.S screws. The work shall be carried out as per specifications, drawing and as per directions of the Engineer-in-Charge.  26.23.1 With 15 mm thick integral densified micro edge light weight calcium silicate false ceiling tiles  Supply, Installation, Testing and	30.00	sqr m	2630.40	78912.00
3	Commissioning (Min.30 watt) LED Lights of approve make and specifications fitted under the frame of false ceiling with required connections complete work as per direction of	6.00	Each	3899.00	23394.00



Conserve Water- Save Life



Government of India Ministry of Jal Shakti Dept. of Water Resources, RD&GR Central Water Commission Narmada Division, Bhopal

	Engineer-in-charge.				
4	Wiring for light point/ fan point/ exhaust fan point/ call bell point with 1.5 sq.mm FRLS PVC insulated copper conductor single core cable in surface / recessed medium class PVC conduit, with modular switch, modular plate, suitable GI box and earthing the point with 1.5 sq.mm FRLS PVC insulated copper conductor single core cable etc. as required - Group C	4.00	Point	1467.00	5868.00
5	Supplying and fixing following modular switch/ socket on the existing modular plate & switch box including connection but excluding modular plate etc. as required.				
5-a	5/6 A switch	8.00	Each	103.00	824.00
5-b	15/16 A switch	8.00	Each	156.00	1248.00
5-с	3 pin 5/6 A socket outlet	8.00	Each	122.00	976.00
5-d	6 pin 15/16 A socket outlet	8.00	Each	197.00	1576.00
5-е	Telephone Socket outlet	4.00	Each	148.00	592.00
6	Supplying and fixing 5 A to 32 A rating, 240/415 V, 10 kA, "C" curve, miniature circuit breaker suitable for inductive load of Single pole in the existing MCB DB complete with connections, testing and commissioning etc. as required Single pole and neutral	2.00	Each	599.00	1198.00
7	Wiring for circuit/ submain wiring alongwith earth wire with the following sizes of FRLS PVC insulated copper conductor, single core cable in surface/ recessed medium class PVC conduit as required: 2 X 6 sq. mm + 1 X 6 sq. mm earth wire	50.00	Meters	439.00	21950.00
			Sub	-total(A)	173796.06
В.	Flood Cell, Narmada Division				





Government of India Ministry of Jal Shakti Dept. of Water Resources, RD&GR Central Water Commission Narmada Division, Bhopal

1	Providing and fixing false ceiling at all heights with integral densified calcium silicate reinforced with fibre and natural filler false ceiling tiles of Size 595x595 mm of approved texture, design and patterns having NRC (Noise Reduction coefficient) of 0.50 (minimum) as per IS 8225:1987, Light reflectance of 85% (minimum). Non combustible as per BS:476 (part-4), fire performance as per BS:476 (part 6 &7), humidity resistance of 100%, thermal conductivity < 0.043 W/m K as per ASTM 518:1991, in true horizontal level suspended on interlocking metal powder coated T-Grid of hot dipped galvanised iron section of 0.40 mm thick on Silhouette profile,rotary stiched double webbed white with 6mm reveal profile (white/black), comprising of main-T runners of size 15x42 mm of length 3000 mm, cross - T of size 15x42 mm of length fo00mm to form grid module of size 600 x 600 mm, suspended from ceiling using galvanised mild steel items (galvanizing @ 80 grams per sqm) i.e. 50 mm long, 8 mm outer diameter M-6 dash fasteners, 6 mm dia fully threaded hanger rod upto 1000 mm length and L-shape level adjuster of size 85x25x2 mm. Galvanised iron perimeter wall angle of size 22x19x0.40 mm of length 3000 mm to be fixed on periphery wall / partition with the help of plastic rawl plugs at 450 mm center to center and 40mm long dry wall S.S screws. The work shall be carried out as per specifications, drawing and as per directions of the Engineerin-Charge.  26.23.1 With 15 mm thick integral densified micro edge light weight calcium silicate false ceiling tiles  Supply, Installation, Testing and	14.56	sqr m	2630.40	38298.62
2	Commissioning (Min.30 watt) LED Lights of approve make and specifications fitted under the frame of false ceiling with required connections complete work as per direction of	4.00	Each	3899.00	15596.00





Government of India Ministry of Jal Shakti Dept. of Water Resources, RD&GR Central Water Commission Narmada Division, Bhopal

	Engineer-in-charge.				
3	Wiring for light point/ fan point/ exhaust fan point/ call bell point with 1.5 sq.mm FRLS PVC insulated copper conductor single core cable in surface / recessed medium class PVC conduit, with modular switch, modular plate, suitable GI box and earthing the point with 1.5 sq.mm FRLS PVC insulated copper conductor single core cable etc. as required - Group C	2.00	Point	1467.00	2934.00
4	Supplying and fixing following modular switch/ socket on the existing modular plate & switch box including connection but excluding modular plate etc. as required.				
4-a	5/6 A switch	2.00	Each	103.00	206.0
4-b	15/16 A switch	2.00	Each	156.00	312.00
4-c	3 pin 5/6 A socket outlet	2.00	Each	122.00	244.00
4-d	6 pin 15/16 A socket outlet	2.00	Each	197.00	394.00
4-e	Telephone Socket outlet	2.00	Each	148.00	296.00
5	Wiring for circuit/ submain wiring alongwith earth wire with the following sizes of FRLS PVC insulated copper conductor, single core cable in surface/ recessed medium class PVC conduit as required: 2 X 6 sq. mm + 1 X 6 sq. mm earth wire	15.00	Meters	439.00	6585.00
			Sub	-total (B)	64865.62
			To	tal (A+B)	238661.68
				Say Rs.	2,38,662.00
	Percentage below or	above est	imated co	est (in %)	
		Quote	ed Amou	nt in Rs.	

Note: Detailed Drawing / Layout of the proposed work can be collected from the office during working hours.



Conserve Water- Save Life



Government of India Ministry of Jal Shakti Dept. of Water Resources, RD&GR Central Water Commission Narmada Division, Bhopal

(To be given on Company Letter Head)

### **Blacklist Undertaking**

To,
Executive Engineer, Narmada Division,
Central Water Commission (CWC)
Paryawas Bhawan, Arera Hills, Bhopal-462011 (M.P.),
Sir,
and the second s
We _(Name of Agency) do hereby declare that, present we do not stand BLACKLISTED or
Debarred by any Central or State Govt. Deptt./PSUs/Organization/ Division/ Units from participating in
tenders of such organization and therefore Eligible to participate in this tender.
Authorized Signature:
Agency Seal
Name & Address of the firm:

